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" 8) The sum of three numbers is 24. Twice the smallest numbex3s)2 less than the largest number, and the largest

1111111be1'vi"s":equal to 'I_IWHIE other two. What.are.the three numbers? Identify the variables and set up a
system of equations to represent this situation. D) X 4+~ + 2 = ay
Lexr v be +he \®Y = (sncilest)
@ 3ax = 2-3

Let Y be +the 2™ & (middlk)
let @ be 44 37 % C larg e s4) & & = x+y

s

Solve
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9) A theater has tickets at $6 for adults, $3.50 for students, and $2.50 for children under 12 years old. A total
of 278 tickets were sold for one showing with a total revenue of $1300. If the number of adult tickets sold
was 10 less than twice the number of student tickets, how many of each type of ticket were sold for the
showmg? Identify the variables and set up a system of equations to represent this situation.
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10) A cashier has 25 coms consisting of nickels, dimes. and quarters with a value of $4.90. If the number of
dimes is 1 less than twice the number of nickels. how many of each type of com does she have? Identify the
variables and set up a system of equations to represent this situation.
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10) A cashier has 25 coms consisting of nickels, dimes, and quarters with a value of $4.90. If the number of

dimes 1s 1_lgss than twice the number of nickels, how many of each type of com does she have? Identify the
variables and set up a system of equations to represent this situation. @ xXtY+ Z=3S

Let x be +he # of niclels (s ¢ = 0.05)

£
Let vy be the # of dimes (lod =0.10) @ 0.05x + 0Joy+oA52 T 4.9
Le4 =2 be Fhe = o‘F QU%I’K(S(;T&.:D.?S} ® vy = A —
M——-——A-‘—-"'""-"

. N . Sﬂl"-‘e-.! (3,5-,|1.) "+ The C_;G\.S"H'-tr hﬁs_ 3 niglels , 5 df‘mf,ﬂmcf |7
11) Jovita divides $17.000 mto three mvestments: a savings accountpaying 6% annual interest, a bond paying

9%, and a money market fund paymg 11%. The annual interest from the three accounts 1s $1540, and she
has three times as much mvested in the bond as in the savings account. What amount does she have mvested
m each account? Identify the variables and set up a system of equations to represent this situation.
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X+y+z=24
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